Hardware Exam Questions Mark Scheme

1. Input:
· Touch screen…

- The hardware is protected from the elements / protected from vandalism.

Output:

· Monitor screen…

- To clearly show choices

· (Low quality) printer…

- To allow passengers to take away details.

Communications:

· Cabling…

- To allow data to be accessed by terminals.

· Network card…

- To identify terminals in communications.

Storage:

· Central hard drive

- To store large amounts of data which will need editing.

(Max two per type, max 8)

(8)
2. (a) -Hardware attached to processor/computer

(i) -to supply data to processor/computer

(ii) -to relay information from the processor/computer

(1 per -, max 2) 
[2]

(b) Note: All these mark points are from the point of view of the ATM. Equivalent points acceptable from the point of view of a Qwerty keyboard.

ATM:

-Only runs one software

-Restricted characters

-Fewer keys…

-simplifies input required…

-fewer mistakes on input

-Meaning of key alters according to place in sequence

-Use of output device to explain meaning of keys

-Braille characters on keys

-to allow blind people to use ATM

-Keys are touch sensitive

-Protected from elements/vandalism

-Made of more resilient material because of position/volume of use/users.

(1 per -, max 6) 
[6]
3. (a) 
-OMR reader

-Disk drive for storage

-(e.g. Screen, keyboard…) to provide user interface

-Data read off OMR sheets by light reflection

-Position of marks corresponds to replies

-Data stored on hard drive until…

-batch of data ready for input

(1 per -, max 2 for hardware, max 4) 
[4]

(b) 
-No prose answers

-Answers in form of tick boxes/underlining/…

-with limited choice of responses to each question

-Probably restricted to one sheet

-Need to keep sheet unfolded/clean

-Text on form is invisible to the reader

(1 per -, max 3) 

[3]
4. -hard drive to store software/OS/user files

-large storage facility/readily accessible/readily editable

-CDRW to produce backup files and archive material

-writable but semi permanent/portable/small size

-DVD to import software/play music while working

-software readily available on DVD 

[6]
5. – Digital camera
- takes electronic image…
- fed into laptop (portable) computer.
- Area of improvement airbrushed out
- Dimensions and colours can be altered.
- Final result printed out for customer.
- Mark available for comment about hard copy / storage facilities
(1 per -, max 6)
[6]
6. - Barcode consists of (pairs of) dark lines

- of (three) varying thicknesses

- which combine to give a (character) code

- used to identify worker

- OCR is a means of computer reading standard characters/Optical character recognition

- Light reflected off characters/determines shape of character

- comparing the values with examples in memory

- fewer characters the better

- used for reading times

- different days signified by different positions on the card

(1 per -, max 3 per type, max 6)

(6)
7. Input:

· Bar code reader/laser scanner/light wand

· Scans the barcode

· recognises the thickness of bars

· to allow interpretation of code number of item

Keyboard

· to allow operator to input barcode/price/details

· in case bar code reader cannot read barcode

· to allow input of codes from items that have no printed barcode

· Swipe card reader/chip reader

· to read data from card (credit/debit/bank)

· to send details of amount and customer to bank/computer

· Scales

· to measure weight of items

· Customer keypad

· to input PIN

Output:

Printer

to print till receipt

LCD

to show purchase details/cost of item

Buzzer

to confirm reading of code

(Any 2x2 input and 1x2 output, max 6) 
[6]
8. (a) OS/data files/software
(b) Back up/archive/communication of files between systems
(c) Import of new software (Note must be relevant to the office environment therefore no encyclopaedias).
[3]
9. (a) -Hard copy necessary so that the text can be read easily

-so that it is easily portable

-Some people find looking at a screen for long periods uncomfortable

-Easier to record notes on hard copy

(1 per -, max 2) 

(2)
(b) -Electronic form so that it can be sent from person to person without delay

-so that it can be copied easily

-so that corrections can be easily made

(1 per -, max 2) 
(2)
10. - Nothing but floppy disk
- Because of the size of the file

(2)

11. -Hard disk…


-to store software and user files (e.g. word processor and essays)

-Floppy disk drive…

-to enable work to be transported between school and home so that it can be continued in the evening

-CDROM…


-to allow the import of new games to the PC.

-Zip drive…

-to back up the files, so that important work is not lost if the hard disk crashes.

(8)

Notice that the question does not specify how many devices should be mentioned. However, each device has to be named and justified (2 marks) and there are 8 marks for the question, so four devices seems sensible. What happened to tape? After all that is the first secondary storage that was mentioned in the text. Tape is not sensible in this example, there is not a big enough volume of data to make a tapestreamer worthwhile, and the old cassette tape is an antique by now. Consequently, a tape device does not fit the application given. Notice, also, the way that the justification for each of the devices was linked to the application, for a floppy drive, the answer did not just say that it could be used to transport files, but it gave a good reason for wanting to do so in this case.

12. Input:


-Touchscreen

-Some protection against vandalism/restricts user access to contents of menu system displayed/simple to use because it uses human reaction of pointing so no training necessary

Output:


- (Touchscreen) / printer

-Touchscreen outputs choices for user to select from / printer available for producing hardcopy as a permanent record for the customer

Storage:


-Hard drive/CDROM


-Hard drive necessary to store details of the products on sale because of the large number of changes that occur in this file. CDROM used to keep the store plan and the location of the departments as these do not change.


(6)

Notice the large number of possible mark points. Also the way that the marks are split up. In this type of question you can’t expect a lot of marks for simply writing down a long list of peripheral devices, the marks are split up according to the four types of peripheral mentioned in section 1.5.e. In reality, this question would probably have talked about such systems being available throughout the store, but this would mean that they would be able to communicate with one another. As communication comes in the next section it was left out of this example question, but such a question would normally have 8 marks, 2 marks for each of the types of peripheral.
13. a)

-Keying in of data, either to a disk for later entry, or directly onto the cheque in machine readable form.

-MICR

(2)

b)

-Keying in can be used to place the details of the payee onto the cheque together with the amount,

-in machine readable form,

-or to store the data on a disk for future use.

-MICR is already in machine readable form

-placed on cheques at time of printing the cheque book

-means that complex figures like account number do not have to be keyed in which would invite human error.

(4)

Notes: Although the answer is given as bullet points, the response expected would be a prose explanation. Note that although MICR is not stated in the syllabus, the examiner expects you to have a working knowledge of it and other input types not stated. The syllabus actually says ‘including…’, in other words any input device may be alluded to in the question, although, in practice, the devices used in the exam will be common and relevant to a simple situation.

14. Office:


-Keyboard/mouse for input because…


-input is likely to be character based owing to typical office tasks.


-Monitor/laser printer for output because..

-output needs to be checked and then high quality printout for documents to be sent outside firm.


-Hard drive for storage because..


-of need to store and retrieve documents out of sequence.

Factory:


-Touch screen for input because..


-dirty environment could damage other forms of input device.


-Plotter for output in order to..


-produce design quality drawings for use in manufacturing process.


-Hard drive for storage in order to..


-store number of high quality drawings.


Communication:

-Necessary for communication, either between machines or to some central resource/LAN..


-requiring cabling/network cards.

(12)

Notes: The standard form of the hardware question requiring answers for input/output/storage/ and communication where appropriate. In reality this is too big a question to be asked in an examination, the normal question will be out of 3,4,6 or 8 dependent upon whether the question says state or describe and whether communications play a sensible part in the application.
